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QUESTION 1

On a network where MSP rings and SNCP rings share fiber resources, if Assigned by VC-4 is selected, you need to set
holdoff time for SNCP services. 

A. TRUE 

B. FALSE 

Correct Answer: B 

 

QUESTION 2

Which of the following bytes cannot be processed in pass-through mode on an ADM site using OptiX NGSDH
equipment? 

A. K1 

B. K2 

C. A1 

D. A2 

Correct Answer: CD 

 

QUESTION 3

When the local end detects BER threshold-crossing in the receive direction, what performance events may be reported
in the transmit direction of the peer end? 

A. LPFEBBE 

B. HPFEBBE 

C. MSFEBBE 

D. RSFEBBE 

Correct Answer: ABC 

 

QUESTION 4

What working modes are supported by clocks of an SDH NE? 

A. Synchronizing 

B. Tracing 
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C. holdover 

D. Free-run 

Correct Answer: BCD 

 

QUESTION 5

On a chain network, if the SCC board on an intermediate station becomes faulty and the line boards of the station are
installed in paired slots, which of the following methods can be used to ensure normal ECC communication between the
other stations? 

A. Reseat the faulty SCC board. 

B. The D byte can automatically pass through, because a protection overhead bus is available between the paired slots.
Therefore, no extra operation is required. 

C. Remove the faulty SCC board. 

D. Delete the faulty SCC board on the NMS. 

Correct Answer: C 
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